Example Key Stage 4 Student Work — Chemistry

The following gives some examples of the level of work covered in Chemistry at Key Stage 4, including
details of how we expect students to set out their work and engage with feedback received. There is a

strong correlation between the excellent diligence illustrated and student progress.

All work has a clear title and date
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Key term definitions and other important key phrases are emphasised so
that students know how to best articulate key ideas.




Practical results are presented neatly in a
table that includes units. Follow up questions
to the practical are completed in detail.
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Student answers are checked in green pen with a clear break down of where marks are
allocated. Even if a student gets the correct answer, they still look for ways that answers could
be improved even further.




corrections in green pen using hints from the teacher marking.
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Calculations are laid
out with clear working 350

Students reflect, consider misconceptions and routinely record advice or feedback

on how they can improve for next time.




